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Find the sum of the roots of y = 2x* —4x+1.
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What is the value of x that satisfies the What is the value of x that satisfies the

following equations:
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How many elements of the set How many elements of the set
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are prime? are prime?
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A crazy store owner puts a pair of shoes on sale
for 40% off, but realizes this is too much and
marks them up 20%. After people stop buying
them, he realizes he needs to lower the price
another 50%. If the shoes then cost $9, to the
nearest dollar, how much did they originally
cost?

Answer :

Round 1 2 3 4 5
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